14. PBIS Middle School held a car wash as a fundraiser. Out of
the 50 vehicles that were washed, 15 were trucks. What
percent were frucks? -z
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15. The graph below compares cups to pints. Which of the

following ordered pairs would also satisfy this relationship?

y

--
o

11 £l

pints

- N W & o0 N o O

Curs D < €
pints T, il

R

17.The prices of 4 different bottles of lotion are givenin the
table. Which size bottle is the BEST value?

Size Price |¥

-18/6F 25 ounces $450  pgy, SO

g _N\o"r. 15 ounces $1.80 25l

y 5570 g 228

A. The 25-0z Uoz_jm >< " i =
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D. Neither
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18. Driving at a constant speed, Daisy drove 240 miles in 6 hours.
How far would she drive in 1 hour2 15 hours2
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19. Chompers is 76 cm long. How many mm is this2
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16. Michael's paycheck last week was $146.50. He would like to nm T
put woé:w earnings in his savings account. How much X 1O
money should he put in his savings ac 2 T
a. $5.02 b. $15.22 ~ @ S@.uo_ d. $88.2% )
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